
H3Ho Structure:
A3B hP24 165 adg f-001
This structure originally had the label A3B hP24 165 adg f. Calls to that address will be redirected here.
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Prototype H3Ho

AFLOW prototype label A3B hP24 165 adg f-001

ICSD 16880

Pearson symbol hP24

Space group number 165

Space group symbol P3c1

AFLOW prototype command aflow --proto=A3B_hP24_165_adg_f-001

--params=a, c/a, z2, x3, x4, y4, z4
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Other compounds with this structure
H3Dy, H3Er, H3Gd, H3Lu, H3Sm, H3Tb, H3Tm, H3Y, F3La

• This structure is crystallographically equivalent to Cu3P (D021). We retain it as the prototype for the subclass of this
prototype containing hydrogen.

• The data was taken for the deuteride, D3Ho.
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4c ẑ (6f) Ho I

B8 = x3 a2 + 1
4 a3 = 1

2ax3 x̂ +
√
3
2 ax3 ŷ + 1
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